=]
=voTrscH

P E R F O R M A N C E

www.evotech-performance.com

Aprilia Tuono V4 Radiator / Oil Cooler Guard
Installation Instructions



®

Installation Instructions  ——

Kit Contents PRN08163-008164

(A 1 x Radiator Guard

1 x Oil Cooler Guard

(© 2 x Mounting Brackets

© 2 x Zip Ties

(B) 2 x M6 - 16 Socket Button Head Screw
(F) 2 x M6 - 25 Socket Button Head Screw
(@ 2 x M6 Washers

(H) 2 x M6 Special Washers

(1) 2 x Plastic Flat Washers

(D) 4 x 5mm Neoprene

(K) 4 x M4 - 10 Socket Button Head Screws
(L 6 x 3mm Neoprene



:'l: .fA?

Repeat
Both Sides




Repeat
Both Sides




Installation Instructions

5 & PRt
R -




Installation Instructions




Installation Instructions

. T A .

— o e




Repeat
Both Sides




Repeat
Both Sides




-~

S ANAN W/ X ®

Installation Instructions 8 —— 4

/i

Repeat
Both Sides










Installation Instructions 11 ==

z::":-.tx_} ',,.’,",.,:;é;-i",;, : =

v ;-_*:‘:ttt:’:’:::‘“:t‘.‘i,-’,,,,

&5 .":**-"'-,*_*.‘:";":*:‘.‘..*3‘#1:1 .!"#E,JAULLV VA
Lt TR AN A J‘J I h‘h”ﬂl*ﬂl 'h"

__ ................ APRAARY AT I'Tll".flu'fn[

................
———————————

e et ; ah h:::n:r&mrlpﬂﬁm‘rﬁﬂlmw I ‘l “Pl’*l”







~__Installation Instructions 13 ==

NP

bt
\\
%



Installation Instructions




Installation Instructions







'I,
‘ Ensure the radiator guard
securely hooks over the
top lip of the radiator







———w R A2 2

InstaIIatlon In_structlons




3 R CLCLLECLLERT
ﬁfwmggwwewm
eRLe Q@

‘‘‘‘‘

”””””

o
™y



ilccecefiogeliopesy

L T T S, A S WL e T

Installation Instructions

. =

I T,/
UURA --'Jm_-'af-‘r'..iuu- ‘wd':L WW f

T T
GG q‘ui.‘.q:d'lJLL?y
Tmrmmmmm

"‘;!‘ﬂ1hia:f A
e ———

e rme
l AR --.'.i.l,lsﬂu';]?

Ui
AN

Vil




22

Installation Instructions




398

06
(3

- T pn ik QJ‘J“‘ s Hﬂ"f
I
AT A NAREOEE

A u
AT T ey ,
LAY \'lv:kr\r\r.":":\r\r.r"nvlr;"srsr;r.r Wy /

VAR RN AT
1 AR ;

T
RN




e kel |
Installation Instructions







|

Ensure Oil Cooler Guard
securely hooks under the
bottom lip of the cooler

! \\‘

—_—TET







Installation Instructions




Remove
Bolts

Caution

R IETEEET

|



hp——

Installatin !nst







Repeat
Both Sides




— pe—

ructions




[ Repea (

Both Sides




Installation Instructions ——~— 4

A ESSENTIAL CHECKS A

It is recommended that periodic inspections are made to ensure
that dirt and debris have not become trapped between the guard
and the radiator/oil cooler. Such dirt and debris would reduce
the cooling efficiency of the radiator/oil cooler.

It is recommended that periodic inspections are made
to ensure that all fixings are fully tightend.



==
=Vc_|_==|—l

F O R M A N C E




